This Booklet contains 48 printed pages.

<3 2Pofca 487 e 7@l e |

Do not open this Question Booklet until you are asked to do so.

4% PG ToF YEICS A Tl WA ol e e |

PAPER—II

ARFAG—II

RL19/APR-II

Question Booklet No.
aelq R4

Question Booklet Series-Code

Read carefully all the Instructions given at the front page and on the back page of this Question Booklet.
G 2PICE 2AAN P 8 I (el I FCHAIE AN TR I |

Instructions for Candidates :

1

10.
11.
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This test is of 2 hours and 30 minutes duration and
consists of 150 MCQ-type questions.

There is no negative marking for any wrong answer.
This Question Booklet has Six Parts—I, II, III, IV, V and
VI, consisting of 150 MCQ-type questions and each
question carries 1 mark :

Part-I :Child Development and Pedagogy (Q. Nos. 1-30)

Part-II : Language-I (English) (Q. Nos. 31-60)
Part-III: Language-II (Bengali) (Q. Nos. 61-90)
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Candidates have to do Question Nos. 61 to 90 EITHER
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Candidates have to do Question Nos. 91 to 150 EITHER
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(Social Studies).

Please ensure that Question Booklet Series-Code is
correctly written and shaded on the OMR Answer Sheet.
Rough work should be done only in the space provided in
the Question Booklet.

The answers are to be marked on the OMR Answer Sheet
only. Mark your responses carefully since there is no
chance of alteration/correction.

Use of eraser or whitener is strictly prohibited.
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and VI is given in bilingual form (English and Bengali). In
case of any discrepancy or confusion in the
medium/version, the English version will be treated as
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PART—I / wl9—I
CHILD DEVELOPMENT AND PEDAGOGY / ¢ fqa @ frpetaieh

Directions : Answer the following questions by | i : 7% Ty f[fon T g auefer Teq

selecting the correct option. e |
1. The word Maturation was first used in 1. ‘Maturation’ %5 212 ¥re SR 992
child psychology by I
(A) William McDougall (A) TRy TIFTAIE
(B) J. B. Watson (B) ¢u. . B
(C) A. Gesell

(C) Q. I

(D) None of them (D) 0@ (FT2 T

2. He was the first who tried to divide 2. WFASIGTR Ferce [fen B Roreed 22
human development in different stages. et
(A) Rousseau (A) TN
(B) Plato (B) CoIch
(C) Aristotle © 50

f th .
(D) None o em (D) dom @3

3. Children think that everything around
them, including toys, are alive. This
mental characteristic of children is called

3. Pre ©F (W (A WF P BRACE
SRRR. IS Tl A | PRYT G2 TR

SRS eI
(A) existentialism
(8) g
(B) determinism
(B) frifeam
(C) animism
(C) HelreRm
(D) None of the above
(D) Tocaa (@ie T

4. Environment, and not the heredity, is
important for human development. The 4. &K S I KGR P TR

supporter of this view is gwgef | G2 ToI0rE LT 20
(A) Darwin (A) TRTEH

(B) Watson (B) ST

(C) Galton (C) SMTeTs

(D) None of them (D) 4V (FTB oI
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5. This is not a principle of development.

(A) Development is continuous
(B) Development is consistent
(C) Development is lifelong

(D) None of the above

. The world appears as a spaceless,
timeless, objectless unit to the child in
the period of

(A) sensory motor thinking
(B) intuitive thought
(C) concrete operation

(D) None of the above

. According to , cognitive

development, cognitive conflict and role
taking ability are three elements of moral
development.

(A) Kohlberg
(B) Piaget
(C) Havighurst

(D) None of them

. Stage of heteronomous morality and

stage of individualism morality are part of
(A) conventional morality

(B) post-conventional morality

(C) pre-conventional morality

(D) None of the above

R1.19/ APR=IT/A

. e @Eh [eer Tk wm2

(A) T 2= e
(B) faml 21 >T=em)ef
(C) PP 231 S
(D) ToiEa (AR T

. @ BE frem Ic R[RIE We = geR,

IR, TER 9T GG ?

(A) FRCIT € FREILETT DI T
(B) vicsers fouee wq

(C) IBI AfFToR B

(D) ToiEa (AR T

C GRS G [, ST s

7, i ofiwl aecm e, @@ o 2o
(e RIea o1 Tommre |

(A) e
(B) Price
(C) cfRer=ry

(D) €T (FT2 o

. TR @ B 9R - Ifeu

TSR B (@I R =@of© 2
(A) FER-ZeRe TeECE R

(B) RIS Afecaisd “rfiT
(C) eriEE Aifecarcem =R
(D) T FRe T

I PTO



10.

11.

12.

13.

Vygotsky that

development

assumes cognitive

(A) is universal across culture
(B) varies across culture
(C) is not influenced by the environment

(D) None of the above

In language development, CDS stands for
(A) child-directed speech

(B) conversation-directed speech

(C) communication-directed speech

(D) None of the above

Which of the following is an example of
intellectual disability?

(A) Dyslexia
(B) ADHD
(C) Autistic spectrum disorder

(D) None of the above

In learning disabilities, the name for
mathematical disorder is

(A) dyspraxia
(B) dyslexia
(C) dysphasia

(D) None of the above

If a child has mental age of 5 years and
chronological age of 4 years, then what
will be the IQ of the child?

(A) 100
(B) 125
(C) 130

(D) None of the above

R1.19/ APR=IT/A

10.

11.

12.

13.

(A) TR AFTeCos ARG
(B) ig~ghe SRpIca “Rafee =3
(C) “Ificae™ =il 2reife =3 1l
(D) TocsE (@b T

SRIRFICR (Fq CDS-9F ~[cal F2f6 =
(A) dlET TiRcacge o

(B) FTSRCTH TREET b

(C) FTFEm TiEEEy b

(D) T*Ed (@i T

fIeoa b (s SEFverE TR 2
(&) focer

(B) «. f&. «3p. fo.

(C) wIBRoE Coorep™ foTerefa

(D) ToiEw (Ao T

e SEFTOR (Fa ES TOR-GF AN 7
(&) e

(B) fercerzm

(C) foicehm

(D) Toicaa (PR T

I @30 Preg TWRE T =W 5 ITT @GR
IETS T W 4 IO, 9@ OF Ja% 39
@2

(A) 100
(B) 125
(C) 130
(D) Toicaa (PR T



14.

15.

16.

17.

Which one is not an important factor of
creativity?

(A) Originality
(B) Fluency
(C) Flexibility

(D) None of the above

When an
cognitive disabilities has extraordinary

individual with multiple

proficiency in one isolated skill, this is
known as

(A) Asperger ability
(B) Rain Man syndrome
(C) Savant syndrome

(D) None of the above

‘Three-ring conception’ of giftedness was
proposed by

(A) Jean Piaget
(B) Joseph Renzulli
(C) E. L. Thorndike

(D) None of them

Differentiated Model of Giftedness and
Talent (DMGT) was propounded by

(A) Francoys Gagne
(B) Sternberg
(C) Terman

(D) None of them

R1.19/ APR=IT/A

14.

15.

16.

17.

AL FJealeTorn @werl TAmE 7 2

A) (Tfereg

(D) T T T

I (@ GFe TS, M I2RY WETO
Tl AR, (@ @3 [fkd TEeR (wa
SRS Tl 2 TR, O @3 Rifhes
REIREX

(A) =IeIRene @i
(B) e Frieg™
(C) s Feg
(D) ToiEa (AR T

TrogfarANeE R

conception’-gq 2AIEF 25T

“Three-ring

(A) T forice

(B) (RO (gl

(C) 3. . 2foiss

(D) 4T (&3 7

BT’ (DMGT)-<9 TBRE 20eT
(A) FFFCEET SHIoC

(B) Grefaaf

(C) BRI

(D) 4R (&3 T

I PTO



18.

19.

20.

21.

Which of the following procedures can be

used to identify Down Syndrome

prenatally?

(A) Amnioprolaxis
(B) Amniocentesis
(C) Amniophalaxi

(D) None of the above

This is not a method of identifying gifted
children.

(A) Classroom observation
(B) Achievement tests
(C) IQ test

(D) None of the above

Who first coined the term IQ?
(A) Stern

(B) Sternberg

(C) Roger

(D) None of them

habits
elimination of bad habits in the learners,

For developing good and
this theory can be helpful.

(A) Sternberg’s information processing
(B) Atkinson-Shiffrin model

(C) Pavlov’s classical conditioning

(D) None of the above

R1.19/ APR=IT/A

18.

19.

20.

21.

ARTESIRIEN SRER T[T PRGN Fehe
T T+ B (@ TwSD 2R FA AR 2

(A) ST ST
(B) SHNfSHRCGRm
(C) SIS

(D) T*Ea (@A T

D TregfaTem Frame s Lo

w2
(A) CIAFCT RISl
(B) $fow wror

(C) JaF IR TSI

(D) Toad (@ioe o

@ 1Q b 212w TERE ¢ ?

(A) IBIf

(B) Grefaaf

(C) 7@

(D) 4T (FT2

e eI ol G2 TSP {RIPACe]
@I O ARFE 20O AI1CE ?

(A) orfIsf-«q O aAfEReRe

(B) SIBfFerTe- il cwe

(C) ~ITeeCes 2l Se[aée

(D) TR (FFe



22. Teacher should represent the learning

23.

24.

25.

material in such a way that it will bring
the This
assumption is based upon the

satisfaction to learner.

(A) law of effect
(B) law of readiness

(C) law of exercise

(D) None of the above

OCEAN theory is a

(A) theory of perception
(B) theory of personality
(C) theory of intelligence

(D) None of the above

A child scolded by his teacher may hit his
peers. This is an example of

(A) regression
(B) phantasy
(C) rationalization

(D) None of the above

Each time the
question, the
question and praise are examples of

student answers a

teacher praises. Here

(A) motivation and emotion
(B) cognition and motivation
(C) the operant and the reinforcer

(D) None of the above
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22.

23.

24.

25.

PrFs M REEeE g9eTeii ToEere
FAE ACe O FrwRiom b efowre =7 |
93 qReNf el fane @i eas TofE 2

(A) TS d
(B) @rEfen @

(C) ST
(D) TR (@A T

OCEAN ©g 25 ¢35
(A) 2SR g

(B) sfeces g

(C) 34w =g

(D) Tcaa (TS T

a3 Pre o7 FEFET aRl foage 20e OF
MOIE WNe FEce AE | @t Fiow
TRl ?

(A) zromgfes

(B) frarseas

(C) feFacE

(D) ToiEd (I T

T TG G0 AT Temwe F(F ©dId
M OICE ST T | GG AN 8 NIl
o IO TR 2

(A) (2R 8 2T

(B) &< ¢ (2R

(C) SIS & RRecPa-«3
(D) TR (@0 T
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26. This is not a technique of memory. 26. (P SreF (FHE 77 2

(A) Peg system (A) ¢l BB

(B) Major system B) &g (e

(C) Method of Loci (C) (T = &0

(D) None of the above (D) T[T (P02

27. 16 PF test is based on 27. 16 PF wors(f fofe w@ =iz

(A) Eysenck’s theory (A) SIROTE ©ed ©7[

(B) Cattell’s theory (B) FICHCIR OCES 87

C) Allport’s theo
() Alle v (C) EICAD-«F OCEd 87}

(D) None of the above
(D) Telcs (PG

28. Action regulation theory of motivation
was proposed by

28. (AFNF SR (FBCT TGHF AT 2

(A) Winfried Hacker (A) TTCET ZFE
(B) Ben Franklin (B) FIET

(C) Clayton Alderfer (C) (POl SIETCOFIS
(D) None of them (D) G0 (&3

29. Who told about the general and specific 29, {fﬁm YRS TATE @ [eE TomIed A1 (&

factor of intelligence? I 2

(A) Cattell A) O ATE
(B) Spearman (B) St
(C) Thorndike © e

D) N f th .
(D) None of them (D) dom @B

30. “Learner learns from his own mistakes.”
This statement is based on which
learning theory?

30. “PrFR wm e v s ond 1 @R
A @ e ©ed I6 o[ 2

(A) Instrumental conditioning (A) RS W

(B) Insightful learning (B) wfRgeTe e
(C) Trial and error theory (C) 28l @ TCoTq oG
(D) None of the above (D) T#ER (@b

R1.19/ APR=IT/A $3



PART—II / <i9—II
LANGUAGE—I / S[¥I—I
ENGLISH / 33&

Directions
carefully and answer the questions (Q. Nos.

Read the following passage
31-35) by choosing the correct option for each.

It is, of course, impossible to characterize a
language in one formula; languages, like men,
are too composite to have their whole essence
short
is one expression that

summed up in
there
continually comes to my mind whenever I think

one expression.

Nevertheless,

of the English language and compare it with
others : it seems to me positively and expressly
masculine, it is the language of a grown-up
man and has very little childish or feminine
about it. A great many things go together to
produce and to confirm that impression, things
phonetical, grammatical, and lexical, words and
turns that are found, and words and turns that
are not found, in the language. In dealing with
the English language, one is often reminded of
the characteristic English handwriting; just as
an English lady will nearly always write in a
manner that in any other country would only be
found in a man’s hand, in the same manner the
language is more manly than any other
language I know.

31. According to the author of the above
passage, a language is

(A) simple enough to be described in one
word

(B) of a complex nature and therefore,
cannot be described in one short
expression

(C) an impossible phenomenon to be
described in words

(D) None of the above

R1.19/ APR=IT/A

32.

33.

34.

35.

The that
meaning to the word ‘lexical’ is

expression bears similar

(A) of the words
(B) of the structures
(C) of the sounds

(D) None of the above

In which context does the author find
similarity between men and languages?

(A) That both are straightforward

(B) That both have multi-dimensional
features

(C) That both grow very fast

(D) None of the above

The
‘continually’ is

word similar in meaning to

(A) incessantly
(B) ceaselessly
(C) Both (A) and (B)

(D) None of the above

According to the author

(A) an English
language like a foreign man

lady masters any

(B) an English lady’s handwriting is
mostly similar to that of a foreign
man

(C) an English lady is masculine in
nature

(D) None of the above

I PTO



Directions : Read the following poem carefully
and answer the questions (Q. Nos. 36-40) by
choosing the correct option for each.

Today the world is a little more my own.
No need to remember the pain

A blue-frocked woman caused, throwing
Words at me like pots and pans, to drain
That honey-coloured day of peace.

“Why don’t you join the others, what

A peculiar child you are”!

On the lawn, in clusters, sat my school-
mates sipping

Sugarcane, they turned and laughed,;

Children are funny things, they laugh

In mirth at others’ tears. I buried

My face in the sun-warmed hedge

And smelt the flowers and the pain.

The words are muffled now, the laughing
Faces only a blur. The years have

Sped along, stopping briefly

At beloved halts and moving

Sadly on. My mind has found

An adult peace. No need to remember
That picnic day when I lay hidden

By a hedge, watching the steel-white sun
Standing lonely in the sky.

36. The above poem gives us the impression
that the speaker in it was

(A) a reclusive child
(B) a sociable child
(C) a talkative child

(D) None of the above

37. The speaker used to be scolded by
(A) her schoolmates

(B) the gatekeeper

(C) her teachers

(D) None of the above

R1.19/ APR=IT/A
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38. The word nearest in meaning to ‘muffled’
is

(A) deleted
(B) stifled
(C) forgotten

(D) None of the above

39. Which of the following words can be
taken as the antonym of the word
‘mirth’?

(A) Sorrow
(B) Joy
(C) Laugh
(D) None of the above
40. The speaker of the poem wants to

(A) remember the memories of her early

school days as they were happy

forget the memories of her early
school days as they were painful

forget her teachers but wants to
remember her schoolmates

(D) None of the above



Directions : Answer the following questions
(Q. Nos. 41-60) by selecting the correct option
for each.

41. Too Mathematics usually

42.

43.

taught in schools.

To fill in the blank spaces in the above
sentence, the appropriate words are

(A) much, is

(B) many, is

(C) much, are

(D) None of the above

His village is over the border.

Here the preposition ‘over’ can be

replaced without any change in meaning
by
(A) on
(B) in
(C) across

(D) None of the above

The phone rang while I dinner.

Here the appropriate verb form would be
(A) was having

(B) had

(C) have

(D) None of the above

R1.19/ APR=IT/A
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44.

45.

46.

47.

Those were the days when teachers used
to know each of their students by name.

In the above sentence, the number of
determiners present is

A) 3

(D) None of the above

The jury divided in their opinion.

The appropriate verb form to fill in the
above blank space would be

(A) was
(B) has been
(C) were

(D) None of the above

If “ing’ is added to the word 1ie’, it would
appear as

(A) lieing
(B) laying
(€) lying

(D) None of the above

In the words ‘apolitical’ and ‘ashore’, the
prefix ‘a-’

(A) brings change in the grammatical
category of both the words ‘political’

and ‘shore’

brings change in the grammatical
category of the word ‘political’ only

brings change in the grammatical
category of the word ‘shore’ only

(D) None of the above

I PTO



48.

49.

50.

51.

The
[3 : : b
aspiration’ can be

word nearest in meaning to

(A) ambition
(B) breathing
(C) painkiller

(D) None of the above

The word ‘lack’ can find its synonym in
(A) unfulfilled

(B) scaring

(C) paucity

(D) None of the above

The word ‘apiary’ means
(A) large enclosure or cage for keeping
birds

(B) place where bees are kept

(C) one who has appeared

(D) None of the above

and
reading passage for identification of parts
of speech can be associated with

Memorizing antonyms/synonyms

(A) the direct method
(B) the grammar-translation method
(C) the audio-lingual method

(D) None of the above

R1.19/ APR=IT/A
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52.

53.

54.

The direct method of teaching language
intends that

(A) students should learn how to

communicate in the target language

(B) students should acquire enough
theoretical and grammatical
knowledge of the target language

(C) students should overlearn the

communicative usages of the target
language so that they can overcome
the barriers of their native language

(D) None of the above

The purpose of language learning is

(A) only to communicate
(B) only to understand
(C) only to think

(D) All of the above

The full form of CALL is

(A) Cognitive Achievers’ Language Lab

(B) Computer-Assisted Language Learning

(C) Comprehensive Achievers’ Language
Learning

(D) None of the above



55. Electronic Text Corpus means 58. An example of English fricative sound is

(A) a social networking site (A) /b/
(B) a blog (B) /h/
©) /z/

(C) a collection of authentic spoken and
written texts of millions of words

(D) None of the above

(D) None of the above

59. The word ‘comprehensive’ would be
stressed on the
56. Pairs of words which differ in only one

sound, e.g., ‘ship’ and ‘sheep’, are called
(A) first syllable

(A) cognitive pairs
(B) second syllable

(B) maximum pairs (C) third syllable

(C) minimal pairs (D) fourth syllable
(D) None of the above

60. Don’t make a noise.

If the above sentence is to be uttered as a

57. The sound /w/ in ‘world’is an example of command. it would be said

(A) bilabial plosive (A) with a falling tone
(B) semi-vowel (B) with a rising tone
(C) back vowel (C) with a rising-falling tone

(D) None of the above (D) None of the above

R1.19/ APR=IT/A 13 I PTO



Candidates have to answer Question Nos.
61 to 90 Either from Part—III (Bengali) Or
from Part—IV (Kokborok).

AIFNE 2 AT 61 (AF 90-9F Ted FACO
3(J ] OlA—III (A1) (AP FA] Bo—IV (FFIEF)
(A |

PART—III / <i9—III
LANGUAGE—II / SNI—II
BENGALI / %l

ety « FRfe sl oce 612 (AF 66712
2[0XF Teq WIS |

BRI WIPRICR, T4 SNICE S G IR
SO TS 233 TCE | T SRR, T4 ATIIE
SIfelCa S G AR—SNf FW 230N SCF (T2 9l
IR #(1fCT , @R Fueacds o opis ice A=
ol

T2 AR, ST ACOF e AOR whe o
fRAIele g FOoR &) B R | ORI, 2O
oz Rl e areifs 2refon T «3 Fom TIeE
Q> &A% SR TR AR e P Al | B AAEICA
Refale 23ce weffel 9fbea <1 | SN ek (R
7 JCTT Wl Wo-NVE Bfeicece, @ e T e
B[P SR SIRRE 7 o1 e 1 | Koo
L SCH, ECa, FCH, [R ol CTrelsieTe $fic o
FOeTT| FYCL W8 Afeed =1 17

61. SNICHE FCrIl A (Foe1 20T ©ICA 0T ASTPHT
4 2R 72

(A) TEIRCTE! 2T 6@
(B) a1 2@ Tocd
(C) g8 = TIq
(D) ToCad (@2 o’

IR (e 0T ACTN NI-NVE IR el
=ef T

(A) 2z e

(B) cFw=RMICeT

(C) Re2r® ey

(D) Toicaa (PR T

62.
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63. ‘wfe[’ by PR 2@
(A) Seda TeE
(B) =% 3(O O™
(C) = e[
(D) T e T

o

‘TR WML AW A B

64.
(A) 21T + ¢F
(B) 4f® +3F
(©) odfs + 95
(D) T (TGS T

“oplal’ *ba Koo x5
(&) c=ia

(B) il

(C) cere

(D) Toca (@ T

65.

66. “FUONFS N Ol Ffce  AfEw AN

@HiES “mba FRe ¢ [efe ze
A) FgFRCE ‘@ Refe

(B) Ffercs ‘@ Refe

(C) wfEsae T ‘@ [efe
(D) o (IR T
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it : fafeie eresfom Afds Teafls fdma 5@
67 <12 (ACF 90 IR 2XF Ted WIS |

67. FrGIPT &1 TR SEEM FCAT
(A) SR@FFT =W
(B) “RI-f@om =%
(©) e =W
(D) Toicad (I T
68. WAl ¢ A Ra ¥t e IR
AL
(A) TISIPICIT TGS 2"
(B) ‘oM’ Tt
(©) ‘Reg=’ Tormet
(D) o (Fie T

69. e’ TR oI 29
(A) Stba Al
(B) Suda e
(C) S»S© A

(D) To[CqF (@02 T

70. *ET SCOIARGICTT M oICE [ 2o
(A) I
(B) e
(C) fesm 7y

(D) T*ieaa @Fie T
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71. T FCWAGICE 44T TAPT 25
(A) “fgeTIChR BfePar
(B) ‘mrifed IR
(C) ‘T’

(D) T*iaa @Fbe T

72. ‘N FEG T

A) ANFEF F=T

(D) T*iEa (@A T

73.  ““CONEl (@ 9 (HTT (A
AN (S8 ©lol I |
O @@’
Tgre wioa =@
(A) &S DTN
(B) SEWES

(C) GRTET™ 7

(D) TR (FUB

74. FES’ FRO-AFEACEE TR 2
(A) FA™TL I
(B) WP 7@
(C) TerFe] BT

(D) TR (U3

I PTO



75. ‘T SICAT COTIF 20ET 79. ‘RO FA’ AET T ZE
(A) AT T (A) TFTE S
(B) frgfeogad e (B) e ]
(C) *R5™ SCGINR (C) GRI=™ w7
(D) T (T (D) SYER &%
76. I ol [KAfe e Ifehviza I9zR FE 80. TF% A’ TAMICOT RG] 2Ce
(A) ST 39 (&) =EEe odt
(B) Toiga ezl (B) ST TS
(C) SPFIFIR 7€ (C) T@T2DM JCAIGR
(D) T (T (D) ToRa (FT o
77. AT AN O AR ZCE 81. TeRacE AE TASE AN e
(A) facsmte q| (A) =i
(B) PR IR (B) ST
(C) MRS R (C) AT
(D) TR (PR W (D) T/FR (@02 W
78. ‘qF2 % I Agel 2’ — F G@ER oS ? 82. . I > L. A “RAER 7afb 2
(a) afezifie (A) TCRToA
(B) cMer® (B) 0
(©) Fewfe (©) e
(D) T*Iad @2 T (D) o (IR T
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83. ‘G’ /‘CIAI’—AMI A ARCAS RS
S S0 | B R XWCP A0

(A) *C7e
(B) 9@t
(C) e *

(D) o @iE

84. ‘8, ‘G — b 2
(A) ST X
(B) ©&d *
(C) TorEF *

(D) T (e W

85. IF Y2 AFICAT, I
(A) 25, T
(B) %8, 28
(C) (et (AT FaRM

(D) T°Iaa (Fe -

86. WIfb'—ax “MEa FacaT 2Cq
(A) B
(B) (N
(C) CCHI

(D) T*iiaa @i T

R1.19/ APR=IT/A
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87. TP IO 2 (1T

(A) =

(B) °ics
(C) @ (AT 7ICA

(D) T°[(aa (@Fe

88. Il FFFs e fof, R waom

(A) v [EE *PT IR
(B) 77, W< € s[emis
(C) T AT AT

(D) %7 @Fie

89. TR Ty 2o FrwIice

(A) Y =
(B) Teoifes w1
(C) =TeIe=Ig Bl T

(D) T*aa @Fie

I PTO



Candidates have to answer Question Nos. 61
to 90 Either from Part—III (Bengali) Or from
Part—IV (Kokborok).

AIFINE 2P R 61 (AF 90 TEF FACO A
o Ol (AIN) (AT HET C—IV (FFIEF)
(A |

PART—IV / Sl9—IV
LANGUAGE—II / ©O¥I—II
KOKBOROK |/ 395

TS & weTrel e Spa I “IfHTR 61 FR-fo
B 65 =1 Sl Teqeale FF Rewailw |

(& FF M3 e GeTf—AF Hfa a5, T
TP O FARIAR BRI 35 | 5 q22mef 23w
S I R, TP 2 T2l oML T
TP P O3 FI5R TR | SEPIa inferior
SeCY T BINI AR | TFY B2 ARCY PTG (FonD
ol | TFS (I A LTSN | e
CEITETIBCem™ I BRTIRS TRTR 220y BCECASN 2. O]
3 MR- 1 OB | =Y @@ Qe A9
FOF 1, S SE T BRDCI- AT
SIECEY

(G771 21% ST FE18 “[[31F 27T | ZF bIelfel T18
FRIR TN | AR 9N, G187 A6, =,
FET, BT, T 2“7 qRAIC2 O8] @8l | Tqe
e 1 2 TR femes! qe7e ©i2-1 As FrR’
FeTreEISIT | Pt 22 2 i A referan o1 |
2 DINIfel 201 ST 0 | SIFeE STzl 25
O BTS2 g+ Pifsl 71 25 1| 25 e 2 we
AT T T TFY AR, &l
SIS A2 SN2, SABIH <A1S TGN S
e 2P | &1 FrofIfel e 2w, Tes brs, s
MRl ORI TP SIGTE 72—+ | =F e
FOW TS LS OF TG FOE A
qfE—eroe’ SRR Ol TFY ©2-T DR
faeiie Sfmae @i wee |

61. IAIM SIS O FIIF (92 FI0IR TR 2
(A) 2 A R e
(B) eI ARFIS ARFE SR ARIAE Hifage
(C) Maif Srexize rege
(D) AR A2 F= A

R1.19/ APR=IT/A

62. TP DI ALY T AR 2
(A) ZPY DINZ ARCY PTG (TER A4
(B) 16 TG S2al
(C) wpfe-=1 s 4re
(D) I A=A FlA

63. TAIRS IRR B O BACHCIGL O ?
(A) 2rRT-DRT
(B) a1 Pre=
(C) CEARTETRCE*
(D) Al ABA F A

64. Sl 7Y A2 ©R-T FIARTRE ?
(8) = FoTe PreraeeR

(B) &I FION AFS TFE ©T Gl Froletel
EREINICIEERE TR

(C) ZrFIef paIp T2
(D) TRFIf AT T

65. ‘TS’ - FANeRFeT FHFARB e

(A) TS
(B) =
(C) e
(D) Al ABA F A
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66. THIIF SRY

67. IF IFIWF IFIMSP

68.

(A) IR EF FF
(B) “eqe qeree 5
(C) %A (tone) TIEIF FF

(D) I 2T T

(Trrem)qel weg

RIS f2ef2 el ?
(a) RF
(B) 2w
(C) oM
(D) IR A=A A

SRR A I i S 2 B b s O
(frefer) =02

(A) FHII

(B) FromE 2

(C) brpen <rizaf
(D) ST A2 F°

69. THITT AR TGS <21l FATPE T8

(A) CBR

(B) TSIeT S

(C) Tea2 TRPAR

(D) ST 2B

R1.19/ APR=IT/A
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70.

71.

72.

73.

T FAN” eR [ ?
(A) TS
(B) e
(C) FFeR

(D) T=FIfe 2T T

o 2eEe “Aesradel’s o et
(&) T o

(B) *nete (v

(C) Fref2 worf

(D) T=FIfel 2T T

“TQo@1 -4 G 72 [T P 2
(A) Ssox/oe T Kb
(B) svex/eo R [
(C) ss88/s8¢ 3 [

(D) AR A2 T

‘sz wiRW O e 2
A) MeT

(B) <FIsTETIA Sife] w<perq
(C) T2

(D) I A2 T

I PTO



74, ‘FRETR AP 2R g Ere e 78. SRR BRAT

(A) fremm o (&) T fore

(B) eTe crar (B) “eqsf e e

(C) T (ra (C) TR TR

(D) IR A=A A (D) I A2 FlA
75. ‘TR T A T8 [’ e 79. T A B R4l

(A) e (a) i f

(B) I [l (B) T P

(C) = T ey (C) 3T Moree TR

(D) AP AT I (D) Tl <M I
76. T WA T FFOR [ T 80. JeIfel W= FAfwform | = S

(a) e crH (A) T TR

(B) Ffem i (B) T IreR

(C) forememw craaaft (C) wie wFaeR

(D) Al B F A (D) I ABA F A
77. ‘ProrSR-PrTSTeR’ Mg e 81. T I Y& FHAI

(A) “F™ @A (A) TS CTEe’

(B) T2 (&3l (B) oIS (el

(C) *mretiet (et (C) T caeirrsy

(D) AR AT T (D) A AZA F A
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82, ‘e’ (TEIAR T AR P BRI
A) B B TreerR
(B) P =F Tremmiz
(C) Br MRFT Treer2
(D) TRl /23T e300

83. el FIfY IR AT Fo141 | TS [RoSF FFAIF
I olegere’ IE ?

(A) SIEEIZ TSI
(B) CISFS OIEZ[ETH
(C) Il wrezeTe
D) RpIfel 23T e

84, (Wfowl wSlrel TOR | ORE SlEEEAR
SIEIEC R CIESIERCICIEY

A) qufeH iR wera R’
(B) e A2 w@leren SoRSISI
(C) gafe a2 wlere AvRSIME
D) AR A=A T

85. TNed (AW FHIAF TGN RIS L

(A) FHIE FHAM FIqNGI

(B) 3P T (02 FRAII2A FGHA el
(C) CHARAN ET-I7TEl FS ATl
D) I 22 F= A

R1.19/ APR=IT/A 21

86. IFl 99 qeTe (TFe)
el 2

(A) Ae AR AR

(B) e A% ~fgs

(C) e () T2 STge (for<e)
(D) Sife A A

e TP 2

87. JTOIR FINMGARA (BRI DISINPS 2
(A) FPT PRNLE FS A8

(B) FP1" FAN T2 Fenifaeriz
(C) corger w1 b feeriaet
(D) T=FIfe 2T T

88. T (Evaluation) qi2

(A) oaRRel HRTEm AW SR SR
H-Fé@]»‘)\f’

B) (5Azd9 TR TFRE SR SN
H-Wﬂ’

(C) M1 FpoI' FIEAC ST S i2Emsl’

(D) A A=A F= A

89. (bqRISI AR SeTer Segegel
(A) EoFE- Tl el TSR
(B) (& YpeArSE SeE’ psl’

C) CoARRReI By (92 @ AR TvIEEE W
BICIE]
(D) Al ABA F A

90. FIqETER  (Lesson plan)-f  YIBIEIoR
TIPS AT

(A) O, STege (o2 s

(B) FTIfewI, FMeqe (T2 AMEGTS
(©) e, e (97 s
(D) AR 2T F1or

I PTO



Candidates have to answer Question Nos. 91

to 150 Either from Part—V (Mathematics and

Science) Or from Part—VI (Social Studies).

AIPFIACTE 2k =2 91 (AE 150 TEF FACS 2@
W OV (e @R [®@RE) (AF e[l SI5—VI
(TSR (A

PART—V [/ Sl9—V
MATHEMATICS AND SCIENCE / sfre @32 fwm

Directions : Answer the following questions by
selecting the correct option.

91. A rational number between 6 and 7 is
12

2

14

2

13

2

(D) None of the above

(A)
(B)

(€)

92. The total number of factors of the
number 36 is

(A) 8
(B) 9
(C) 10
(D) None of the above

93. The sum of all even numbers between
1 and 55 is

(A) 756
(B) 728
(C) 702
(D) None of the above

94, % of 5 kg apples were used on Monday.

The next day % of left was used. The
weight (in kg) of the apples left now is

(A~
1
B 4
2
© 3

(D) None of the above

e |

91. 6 &R 7-47 W G Yo IR
12

2

14

2

13

2

(D) Tocad (FMie

92. 36 MBI (6 TLAMCFT R4 Zo
A) 8
(B) 9
(C) 10
(D) ToiEa (AR T

93. 1 &R 55-47 W[E W IW RSB
Qs 21
(A) 756
(B) 728
(C) 702
(D) Toia (A T

(A)
(B)

©)

94. 5 %CEEITSIWW%WW G 29 41

W|WWW%WWW%

JREE A RS | TN S_NE S
a&w (Feamane) 2@
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95.

96.

97.

98.

99.

100.

R1.19/ APR=IT/A

If2a-2 =3, then — % >
a a“-a-1

A) S

B) 6

(C) 7

(D) None of the above

Iff: a+?2

y a-2
2a

a®+2
4a

a? +4

(!
(D)

2 _ 2
X Y _»

, then 3
X“+y

(A)

(B)

None of the above

One of the factors of a® —4a—-12 is
(A) a-6

B) a+6

(C) a-3

(D) None of the above

If 47 = %, then the value of 4)°* is

(A) 9
(B) 18
(C) 27
(D) None of the above

If a+b=3,
a® +9ab+ b3 is
(A) 9

B) 18

€ 0

(D) None of the above

then the wvalue of

1 1 1
If xP=y? =2zr and xyz=1, then the

value of p+q+r is

(A) O

(B) 1

(©) par

(D) None of the above

23

95.

96.

97.

98.

99.

100.

_2a_
a? +2
4a
a? +4
(€) 1
(D) Toca (@M T

a? -4a-12-93 b T 29
A) a-6

B) a+6

(C) a-3

(D) Toca (@ T

it 4% =% =, @ (4)3%-«q W 3@

Al
Q
+
S
Il
w
A
4
Q
w
+
O
Q
S
+
(Sl
w
Iy
A

R xyz=1 F, O
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101.

102.

103.

104.

105.

R1.19/ APR=IT/A

The value of v/3+2v2 —+/3-242 is
A) 242

(B) 2

(€ O

(D) None of the above

_J3+1
S V3-1

value of (x3 + y°) is

J3 -

1
If x »
J3+1

then the

and y-=

(A) 64
(B) 32
(C) 76

(D) None of the above

If 15 men can make a wall in 48 hours,
how many men will make it in 30 hours?

(A) 20

(B) 40

(C) 24

(D) None of the above

If 2x+3y:(B8x+5y =18:29, then x:y
is equal to

(A) 3:4

B) 4:5

C) 1:2

(D) None of the above

If each side of a square is increased by
10%, then what percentage of its area
will be increased?

A) 11%
(B) 20%
(C) 21%

(D) None of the above

24

101.

102.

103.

104.

105.

J3+242 —/3-2V2-97 I &1

A) 242

(B) 2

(€ 0

(D) T*Ra (@A T

i ngti TS y=g+1 7, d
(3 + y®)-aa T =@

(A) 64

(B) 32

(C) 76

(D) ToicEa (AR T

W 15 G @NF 48 IBF GF0 (FSTE (ol
FAS @, @ IOGH @G & WS
30 TGF COdl FAC@ AFE ?

(A) 20

(D) T*Ea (@i T

M @x+3y): (Bx+ 5y = 18:29
x:y 2«

7, R
(A) 3 : 4

B) 4 :5

© 1:2

(D) Todd (@ioe

(I Iofcweaa Afels qr2d wefi 10% I 41
o0E (e oA O I 7I1Cq 2

A) 11%
(B) 20%
(C) 21%
(D) TR (FFe ./



106.

107.

108.

1009.

110.

R1.19/ APR=IT/A

By selling an article if the loss is 12%,
then what will be the ratio of cost price
and selling price?

(A) 20 : 19
(B) 25 : 22
(C) 17 : 15

(D) None of the above

If a sum becomes four times in 15 years,
then what will be the rate of simple
interest per annum?

(A) 21%
B) 19%
(C) 25%
(D) None of the above

For the given figure, find the values of
x and y, where x —y=40°:

P
Q
o y x
A 20 B
O

(A) 90°, 70°
(B) 110°, 50°
(C) 100°, 60°

(D) None of the above

If the lengths of three sides of a triangle
are 6 cm, 8 cm and 10 cm, then the
radius of the circumcircle of the triangle
is

(A) 5 cm
(B) 6 cm
(C) 7 cm
(D) None of the above

The ratio of length and breadth of a
rectangle is 4 : 5. If the perimeter of the
rectangle is 18 cm, then the length of its
one diagonal is

(A) V40 cm

(B) V41 cm

(C) 7 cm

(D) None of the above

25

106.

107.

108.

109.

110.

@ T KD I 12% S 203 Tl 8
e Seere 7 2

(A) 20 : 19

(B) 25 : 22

(C) 17 : 15

(D) T T T

PICE 15 I=CA B B9 2 ?
(A) 21%

(B) 19%

(C) 25%

(D) Toca (@i T

e Bi@d & x GR y-9F W R 3T,
CEICT x —y=40° :

P
Q
o Y X
A 20 B
O

(A) 90°, 70°
(B) 110°, 50°
(C) 100°, 60°
(D) T°I7a (FFHe

a3 fagre foab q=a o 6 LW,
8 GLTW. @k 10 ¢ M. | fagea “f=ypiy
9 ?

A) 5 ¢1. f.

(B) 6 1. f.

©) 7 &1 .

(D) T°aa (FFe

(b SIFSCHCAA 7] @ AT TS 4 ¢ 5|

IRreCFEnd AN 18 (1. . 2¢a o @Ffb
FCAT s F© 2@ 2

(A) V40 1. .

(B) V41 &1. .

() 7 @1 M.

(D) TR (FFe ./
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111.

112,

113.

114.

115.

R1.19/ APR=IT/A

If the two adjacent angles of a
parallelogram are equal, then the value of
each angle is

(A) 80°
(B) 70°
(C) 60°
(D) None of the above

The area of a rhombus is 280 sq. cm and
length of one diagonal is 14 cm. What is
the length of the other diagonal?

(A) 35 cm
(B) 30 cm
(C) 40 cm
(D) None of the above

The area of a circle is 616 sq. cm. What
will be the diameter of the circle?

(A) 28 cm
(B) 14 cm
(C) 21 cm
(D) None of the above

The average age of 5 men is 45 years
while the average age of another 4 men
is 36 years. The mean age of all these
9 men will be equal to

(A) 40 years
(B) 41 years
(C) 39 years
(D) None of the above

If a certain set of observations has mean
22-5 and median 20, then what will be
the mode of that set of observations?

(A) 12
(B) 14
(C) 16
(D) None of the above

276

111.

112.

113.

114.

115.

G5 ANICPT RS (FI 7O AT A
2E Al (e T 59 2

O 990 Fara 280 39 (1. . 9 T2
G35 Feofa ol 14 @1 L1 oo effba oy
O 3F?

(A) 35 (. fil.
(B) 30 &1 .
(C) 40 (. fi.
(D) TR (@M T

¢ Jred CFawd 616 of ¢ .| Fefq
[OR el F© 23 ?

A) 28 1. fi.
(B) 14 @i f.
(C) 21 . fi.
(D) Toicaa (AR T

5 G (ST 51T T 45 AT G I 4 Tl
(AR 91T T 36 I 203 €2 9 Tl (IR
T R 2
(A) 40 I
(B) 41 I
(C) 39 AW

(D) Tocad (@ioe o

W e e qfEreceE s/e 22-5 3R T
20 2, O@ & AR MAGF I F©
201 ?

A) 12

(B) 14

(C) 16

(D) TR (FFe



116. The height of an equilateral triangle is | 116. G0 QL B]gcxsm Twel 543 @1 W 20,

53 cm. Find the area of the triangle. ‘IEI\;D@?IAM CFATe T ?

(A) 253 sq. cm (A) 25V3 39f @1 .

(B) 15V3 sq. cm (B) 1543 <of 1. fil.

(C) 10v3 sq. cm (C) 10V3 <sf 1. fil.

(D) None of the above (D) ToiEd (PIAME T
117. The nature of Mathematics is 117. sificeq ?@;% =5

(A) ornamental (A) SETFRS

(B) difficult (B) <

(C) logical ) {%Eﬂ'@

(D) None of the above (D) oI FRIEE

118. Who said that “Mathematics is the
science which draws necessary 118. = © A ’ ’

conclusions’? frace ¢fler”” 2
(A) Hogben (A) 2oICI

(B) Benjamin Peirce (B) @gifse formf
(C) Locke () =

(D) None of them (D) dC@ (T2 o

119. Which of the following is not the | 119. @G Y& S FrwcEg (IRB; % 2
characteristic of a successful teacher?
(A) TS MBI

(A) Partial behaviour

(B) Tesf
(B) Dedication
o (C) FFaRT!
(C) Practicability
D) T (@b W
(D) None of the above (D)
120. qx? = 7ol
120. Who deduced the solution ax +bx\-}-070(a¢ 0) MEIREAE
- 2 - ~b+b? —4ac
X = @ for the equation X= WW kﬂ Cas
2a 2a
ax? +bx+c=0 (a# O 2w T 2
(A) Shripati (A) Reifs
(B) Bhaskar (B) ©=q
(C¢) Ramanujan (C) AT
(D) None of them (D) G| (T
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121.

122,

123.

124.

125.

Which one is correct about the following
statements?

(I)

Adulteration takes place generally
more in loosely sold items than those
sold packed.

(II) Powder and paste forms are generally

more adulterated than solid lumps.
(A) Only (I) is true
(B) Both (I) and (II) are true
(C) Both (I) and (II) are false

(D) Only (II) is true

Which of the following does not match?
(A) Vitamin A—Night blindness

(B) Vitamin B;—Pellagra

(C) Vitamin D—Deformities in bone

(D) Vitamin K—No blood coagulation

Penicillin was discovered from
(A) fungi

(B) bacteria

(C) virus

(D) algae

Biotechnologically  insulin be

produced by

can

(A) bacteria only
(B) cow only
(C) both bacteria and cow

(D) both bacteriophage and bacteria

The xylem in plants is responsible for
transport of

(A) water
(B) food
(C) amino acids

(D) All of the above

R1.19/ APR=IT/A
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121.

122.

123.

124.

125.

Jicva [gfesfer sEea @i 1S 2

1) 0 FA SRR @@ e e
&t (oo MaRaTes @ 27 |

(1) S Ple (F S0 @R (@3 T TER
(SEIE RIS (@ 2T |

(A) =@ (1) T
(B) (I) @3 (II) T=%3 )
(C) () @=r (II) Tewz e

(D) WEIF (II) T

ffefie efem St @G TEEPE w1 2

(A)

FSBIfe A—dT@rael

(B) TSBIRM B,—CofeTa

[

o
[SDTTHe

(e

D—3[ey iphe

€

(D) eI K—=& of¥s =7

laYaSas fa

CETTPETe] SATES

RRIEY
(A) =dF AT

(B) IRCEI (ACF

(C) ©IZAPT (AP

(D) CIETET (AP

toq afes @el TP Tect el =

(A) BYIE TITCORIR =0T

(B) Y@ F R

(C) TRCGRA 2 o7F TSEF A2

(D) TFCHRESTFE @R ARCHRAT TSR AR

Sfem G20 A RICST Gy o 25
(A) o oIfFeel

(B) g lft=2el

(C) UG SPTS e

(D) Tcaa Tzl



126. Which of the following constitute a food | 126. <I(bd (D AMPEET 519 B¢ 2

chain?
(A) T PT, SN @R N
(A) Grass, wheat and mango
(B) M1, 2IoeT @R AR
(B) Grass, goat and human
(C) TM™, AR QR =J9[ET
(C) Grass, fish and goat

D) €M1, 29 9 TS
(D) Grass, deer and elephant (D) ’ T

127. JWO(FT BF9
127. The importance of ecosystem lies in &=
(A) e =ica

(B) cycling of materials B) T o AT
(C) Both of the above (C) T 1153

(D) None of the above (D) THER (@R T

(A) flow of energy

128. Which of the following is also known as 128. FFDE T ©7S e 2
golden fibre?

A) Pr=
(A) Silk
(B) ™1 A1 fe
(B) Cotton .
©)
(C) Jute
(D) T (@i T

(D) None of the above

129. 99T (Oe 2NSyl IF
129. Agar oil is found from
(A) FRFNS -7l (AT
(A) infected agar-leaves

B) H691€-¥51 (ACF
(B) agar-roots ( kS

C) RGO SSH-FI (AP
(C) infected agar-wood © =

D J-
(D) agar-leaves (D) =EIg-#mer CACE

130. FHElIosRr: SO :
130. Which of the following is the best LR T 2 T el T

indicator of SO, pollution? MG 2

() Bryophyte (A) FCTFRE
(B) Pteridophyte (B) W
(C) Algae (C) Cxiaret

(D) Lichen (D) e
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131.

132.

133.

134.

135.

R1.19/ APR=IT/A

Cement factory labourers are prone to
(A) leukemia

(B) bone marrow disease

(C) asbestosis

(D) cytosilicosis

Which of the following is also known as
law of inertia’?

(A) Newton’s first law

(B) Newton’s second law

(C) Pascal’s first law

(D) Pascal’s second law

Which of the following is not a unit of
pressure?

(A) pascal
(B) mm Hg
(C) torr

(D) newton

It is hotter at the same distance over the
top of a fire than it is on the side of it,
mainly because

(A) heat is radiated upwards
(B) air condenses heat upwards
(C) convection takes more heat upwards

(D) conduction, convection and radiation

all contribute significantly in trans-
ferring heat upwards

To hear a distinct echo each, the
minimum time interval between the

original sound and reflected sound must
be

(A) 1 sec
(B) 01 sec
(C) 2 sec
(D) 0:2 sec
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131.

132.

133.

134.

135.

Pt IR ANBTE @ @6b 2€A
TRl ACF T 2&7

(A) TeTei

(B) SfEaesa (el

(C) SOPLACDIFF

(D) TR

fafRestr T @@ ‘wTrE &iae
“{fafoe 2

(A) o 22w @

(B) FIShcT f@@m 4

(C) & 229 @

(D) liczceT faSr

TEF @D B G T2
(A) “ICEeT

(B) ™. f. ~rm

(C) B

(D) f&5a

TG (AP TACY AT @R TAEE Wy,

Tocq ol @ el TR

A) < Toim e RSl =

(B) oM T TS Wellg© A

(C) SICo[ AfRbleM SFiE Toicad Wee @l
IR

(D) “fffazel, “fivem @@ f[fme Sicm fice
SRS I @S SR SR [
3

2IfSfb aifewmfe =o@ea ware ae AR @37
ARSRIT TP T-ITF 2@ TE TBSS

A) 1 O
(B) 0'1 CTce
(C) 2 OIS
(D) 0-2 e



136.

137.

138.

139.

140.

The positive pole of the dry cell is made
up of

(A) Zn
(C) Fe

(B) C
(D) Al

Choose the wrong statement.

(A) A concave mirror can form a
magnified real image.

(B) A concave mirror can form a
magnified virtual image.

(C) A convex mirror can form a
diminished virtual image.

(D) A convex mirror can form a

diminished real image.

A parallel beam of light is incident on a
glass item behind the curtain ABCD. The
emergent rays coming out from the item
are as given in the following figure. Which
item could be behind the curtain?

A
1—)
2—>
3—>
4 —>
5 —

B

D

— N Wb Ul

(A) Concave lens

(B) Convex lens

(C) Rectangular glass slab

(D) Prism

Which of the following planets has (have)
ring around it (them)?

(A) Jupiter

(B) Uranus

(C) Both Jupiter and Uranus

(D) None of the above

The largest satellite orbits around the
planet . (Fill up the blank)

(A) Jupiter
(B) Uranus
(C) Neptune
(D) Saturn

R1.19/ APR=IT/A
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136.

137.

138.

139.

140.

@F0  WF  OER (PTG O
ffeResfm T @t Wa 2mse 2

(A) Zn B) C
(C) Fe (D) Al
fgfesler T @M we 2

A) @I wRee wof faffe swm afey col
PICO AT |

(B) 4l wwst wof Raffe wpm afefy to)
FACO T |

(C) @3> Tea wofq gRIFe wpM 2feRm Codl
FACS A |

(D) «Fb Tee wofdl 2FPe M AfeRm oAl
FACS A

ABCD *M{ f=e SRFS (FIC FIC59 %9
T i At afEie g e
33 | e 7%= 2@

A
1—
2 —>
3—>
4—>
5 —>

B

D

=N WwWhr U

TRCE IT ToE _ Aced SR A |
(FE #Re )

(A) gzfe

(B) 2SR

(C) G

(D) *f

I PTO



141.

142,

143.

144.

145.

A change of state from one form to other
is a

(A) biological change

(B) chemical change

(C) physical change

(D) None of the above

An element reacts with water to produce
hydrogen. The element may be

(A)
(B)
(C)
(D)

very active metal
very active non-metal
heavy metal

liquid non-metal

Which of the following properties is
generally not shown by metals?

(A) Electrical conduction

(B) Sonorous in nature

(C) Dullness

(D) Malleability

Which of the following statements are
correct about an aqueous solution of an
acid and a base?

(I)
(I) Higher the pH, weaker is the acid.

Higher the pH, stronger is the acid.

(III) Lower the pH, stronger is the base.
(IV) Lower the pH, weaker is the base.
(A) (I) and (III)
(B) (II) and (III)
(C) (I) and (IV)
(D) (II) and (IV)

Which of the following gives the correct
order of acid strength?

(A) Water < Acetic acid < Sulphuric acid
(B) Water < Sulphuric acid < Acetic acid
(C) Acetic acid < Water < Sulphuric acid
(D) Sulphuric acid < Acetic acid < Water

R1.19/ APR=IT/A
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141.

142.

143.

144.

145.

GP Q9 (ACP AT A AZBICPR ACeT
(A) CaR #fRae

(B) APTRI ~AfRée

(C) (oI [fa$a

(D) Toca (@i T

GFf (9 SR Ao [iEm T RGeS
T 3¢ | (D 2

(A) wTo8 AFT e
(B) S8 Al SUTY
(C) =Rl 49

(D) 7 S41Q

fafiReshrm Wt @R @t TeRTes 4
T 2

(a) fpe wfafzer

(B) 5 ¥ T FAI
(C) frzeres

(D) WreT=eNeTel

T S FH-TTA A7 @I [Ifeel 1oy 2
() pH I @ 2@, oF OO Ml 2 |
(I) pH T© (I ¢4, &H OO YHe 2T |
(Il) pH T© I 2(3, FF ©© & 2 |
(IV) pH I© 39 2(q, FF ©9 74e (T |

(A) (I) @3 (1)

(B) (II) @3 (III)

(C) (I) @R (IV)

(D) (II) €3 (IV)

fffeegtrm W s fe-Hife @

T AT 2

(A) @ < SIS ST < AERFERE
fTe

(B) & < E(weRe Spbe <

TS

(C) =T =M < @ < Ao

(D) AFeRE SpPTe < SHeine SuPe <
el

N
SIICAILP




146.

147.

148.

149.

150.

Science refers to
(A)
(B)
(€)
(D)

a system of acquiring knowledge
a system of natural phenomenon
a system of physical evidence

a system of experimentation

A scientifically acceptable general
principle formulated to explain a
phenomenon based on experimental
evidence is called

(A) hypothesis
(B) theory
(C) proof

(D) evidence

The history of science is the study of the
development of science and scientific
knowledge including

(A) natural sciences
(B) social sciences
(C) Both (A) and (B)
(D) None of the above

The teaching of science may be done by
(A) inquiry approach

(B) hands-on approach

(C) ICT approach

(D) All of the above

Which of the following are major
problems of teaching at upper primary
level in India?

(I) Unavailability of new teaching
resources
(I) Students wunable to understand

concepts of science because of their
uninterested attitudes

(ITI) Properly skilled teachers are few in
number

(A) (I) and (II)

(B) (II) and (III)
(C) (I) and (1II)

(D) (1), (II) and (III)
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146.

147.

148.

149.

150.

VA

e e
(A) S« e IR PGS
(B) 2rpfes <o Fiosags
(C) CeI® FCFE PIOTICP
(D) A FE PIOvE

AT MCFR TR fSfe I @I 9o
[ FACe @S @ YRS i
A AN 2 P A

(A) ==
(B) ©¢
(C) e
(D) T

o o o o
[FERICIT 20T MR &8 (JR[[«[P (T
Tafeq ob1 @ W@{v@ I

(A) =rpfes Reses

(B) & e

(C) (A) 9= (B) Te=aFE
(D) Toca (@ T

feem-Prsr (reTe To 2o

(A) SEpTEA SfesEw

(B) 2ACS-2CS WA

(C) ==~ 2}f& Sfaw
(D) o SRl

Tafieslm W SRee T% AeiE B
em-fRrsced I P10 79

() T PEpe-ST~re SPTREETere]

(1) Zg-gam e aRensk Riee AE
P O 2RI JCATON

(I11) F=feTca wF PrEpe-REesa ergel =3
(A) (1) 9= (11)

(B) (II) @3 (III)

(C) (I) @3 (ILI)

(D) (1), (I) €3R (II])

I PTO



Candidates have to answer Question Nos. 91
to 150 Either from Part—V (Mathematics and

Science) Or from Part—VI (Social Studies).

AIPFIACTE 2k =2 91 (AE 150 TEF FAS @
W OV (e @R [®@RE) (AF e[l SI5—VI
(TSR (AT |

PART—VI / Si9%—VI
SOCIAL STUDIES / FSi& <l

Directions : Answer the following questions by

selecting the correct option.

91.

92.

93.

94.

R1.19/ APR=IT/A

The rings of Saturn are made up of
(A) satellites

(B) hydrogen and helium

(C) small ice and rock particles

(D) None of the above

The time difference of 1° longitude is
(A) 4 seconds

(B) 4 minutes

(C) 4 hours

(D) None of the above

The density of core of the Earth is
(A) 35 g/cm®

(B) 55 g/cm?

c) 11-1 g/cm3

(D) None of the above

Quartzite is formed from
(A) basalt

(B) gneiss

(C) mudstone

(D) None of the above

it « 0 Tey faafor F@ ooa aesfem
Teg wie |
91. *faces o1 afde 37

92.

93.

94,

34

(A) ToEz @R

(B) Z3cgices @ f3femmm me
(C) Fu T IR ALY ARl
(D) Toca (@b T

1° WfENR SHER AL 27
(A) 4 CTFS

(B) 4 ffed

(C) 4 TG

(D) T (TGS T

A (FENGER Ty 29
(A) 35 &/99 L.

(B) 55 &M/= @A

(C) 11-1 &/ AL,
(D) Tocaa (@M T

(A) TPTH (ACH

(B) M (2w

(C) T (AT
(D) Toicaa (AR T



95.

96.

97.

98.

99.

100.

Terra rossa soil is obtained in
(A) Savanna region

(B) Limestone region

(C) Taiga region

(D) None of the above

The velocity of wind is measured by
(A) barometer
(B) hygrometer
(C) wind vane

(D) None of the above

California Current is formed in the
(A) Pacific Ocean

(B) Atlantic Ocean

(C) Arctic Ocean

(D) None of the above

Equatorial low pressure belt is extended
from

(A) 10° N-10° S

(B) 0°-5° N

(C) 5° N-5° S

(D) None of the above

The Cold Desert of India is located in
(A) Shimla

(B) Srinagar

(C) Ladakh

(D) None of the above

Fossil is found in

(A) hypabyssal rock
(B) metamorphic rock
(C) sedimentary rock
(D) None of the above
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95.

96.

97.

98.

99.

100.

BT CAPT JRePIG (rel IR
(A) TSI SE6CE

(B) DeTI7NE S%ece

(C) TN =y=ece

(D) T*[a @A T

AR Sl M TFO T 28
(A) FICANGR

(B) =2t

(C) AT

(D) Tofcaa (@Mbe T

Frfercaffar cre e =7
(A) 2*8 2PTeIc

(B) SBAIHF T2PISCE
(C) CIF FRPTICT

(D) ToicEa (e

R TEee TeEe oREe [ @

T2
(A) 10° Tg-10° W3
(B) 0°-5° T3

(C) 5° T3-5° we

(D) Tocs (@A T

(A) e
(B) Hwalca
(C) =M
(D) ToicEa (e T

GRPT 74T TR
(A) Tl e

I PTO



101. ‘Siderite’ is included in the mineral ore of | 101. ‘PiCedaRy’ s SFESE 2@ TE R

(A) nickel (A) Fcwea

(B) bauxite (B) J3ZG

(C) iron (C) GTace

(D) None of the above (D) TR (I3 =
102. Ontario and Quebec are famous for 102. SIS © W @ Pread e [Rre 2

(A) paper industry (A) Flore ILE

(B) cotton textile industry (B) S*(PT R g

(C) iron and steel industry (C) CT2-37s firg

(D) None of the above (D) To[ER (02 T
103. _ is called the Fruit Basket of India. 103. SECST TER ﬂf% = =

(A) Jammu and Kashmir (A) = P

(B) Kerala (B) T

(C) Himachal Pradesh ©) w5 AT

(D) None of the above (D) T R

104. The rain shadow region of Western Ghats
g 104. SFCSH “FoCod IBRR www 29

is

(A) flood prone (A) RS

(B) earthquake prone (B) WW@

(C) drought prone (C) wFOIFfeTe

(D) None of the above (D) ol (IR T
105. Alluvial soil is a 105. “forfesl 251

(A) transported soil A) “IfFaze m

(B) saline soil (B) TR el

(C) calcareous soil (C) TR Y]

(D) None of the above (D) T/ER (@02 T/
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106. The great granary was discovered in | 106. ﬁ@r MO (Pl (FCT *PTSIQE %v§s\9

which Indus Valley site? BCRe ?

(A) Lothal (A) CeTaTeT

(B) Chen-hu-daro (B) BIFI-Z-HICAl

(C) Harappa (C) ==z

(D) None of the above (D) Tofcaa @b T

107. Which c1v11‘1za.t1on was devel'oped on the 107. BREM-3TE dme S @R Torel s
banks of Tigris-Euphrates rivers? SR 2

A) Chinese Civilization
A (A) Cofers Terel
(B) Mesopotamian Civilization
(B) CHCAICHRET FTerel
(C) Inka Civilization

(C) @ eyl
(D) None of the above
(D) T°[aa @Fe
108. Which of the following Mahajanapadas
was a republic? 108. RS (T T2e7mh aTolys foe 2
(A) Avanti (A) SRS
(B) Kosal (B) et
(€) Magadh (C) a1
(D) None of the above (D) TAad (FIbe T

109. Which Indian king was known as | 109. (@ SR & ‘CRARPE PRV e

‘Devanampiya Piyadasi’? Aff5e fece 2

(A) Bimbisar (A) AT

(B) Bindusar (B) ﬁw
Ashok

(C) Ashoka ©

D) None of them o
(D) (D) «@mg Fo3 oI

110. The shore temples at Mahabalipuram
was built during the reign of which

110. FEREACE Sl RS (I W

dynasty? Arergrical e 2eafes 2
(A) Pallavas (A) “ER

(B) Cholas (B) o1t

(C) Pandyas (C) “irey

(D) None of the above (D) /ER (@02 W
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111. Which Indian king fought against | 111. 1191 R EAIICE | VG I R ?El\lﬂ REZSSAT!

Muhammad Ghori at Tarain in 1191 AD? SR A = FCAMRCE 2
(A) Jaichand (A) M

(B) Prithviraj Chauhan (B) “3Ere (Hze

(C) Dharmapal (C) &

(D) None of them (D) 9id (Fo2 oI

112. Who among the following sent an | 119, (g N (& WOF ©RCS ST (2F9

invasion to South India? AR 2

(A) Muhammad Ghori (A) Tz ﬂ%

(B) Iltutmish (B) WQ&P‘T

(C) Alauddin Khilji (©) ST RerE

(D) None of them D) ST (T

113. T'he Dar.gah. of which Sufi saint is 113. g T‘% e
situated in Ajmer?

(A) Moinuddin Chisti (A) s e
(B) IR FIM

(C) foaal
(D) 4V (FTB oI

(B) Baba Farid
(C) Chirag

(D) None of them

114. Which of the following employees did not 114. qo 5o (F R ESE '

belong to Akbar’s revenue department? fcerer =112

(A) Kanungo (A) I

(B) Poddar (B) ¢

(C) Bhuian (©) =

(D) None of them (D) €T (FTR T

115. To whom did the Mughal emperor make 115. 1765 B @ e IR ‘A

the ‘Grant of Diwani’ in 1765? PR W FCEA 2
(A) Mir Qasim (A) I

(B) Robert Clive (B) T Fize

(C) Jagat Seth (C) &I ¥

(D) None of them (D) 47 (FTB oI
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116. Why did Gandhiji start the Champaran | 116. STRIG! (& 5K N2 W FCARCE ?
Satyagraha?

(A) Tole ARFEwE (@@ g &

(A) To increase the wages of the textile

mill workers (B) FIPM qMerg PAICN e
(B) To reduce the taxes given by the (C) T BRI €°[ 2SR CIRCCR 2o
farmers FACS
(C) To protest against British (D) TR (R
exploitation of the Indigo farmers
(D) None of the above 117. “TI& 6 B@ @R S $F T2
117. Which movement began with the ‘Dandi (A) SPT=cl
)
March’s (B) W2l S
(A) Non-Cooperation
(C) ©I9 =l
(B) Civil Disobedience
(D) TR (@0 T

(C) Quit India

(D) None of the above 118, SFEMA-FICIR R AR <25

(P PCI %Zﬂ?l ?
118. Who named Andaman-Nicobar islands as
Sahid-Swaraj islands? (A) 9 E
(A) Gandhiji (B) Jeorb%
(B) Subhas Chandra Bose (C) JIETSSB “ICHa

(C) Vallabhbhai Patel D) S s

(D) None of them

119. Towife ATCE BFmal @R FizesEea &F 2

119. What are Hiknanani and Kaizagnani in

the tribal society? (A) itz e

(A) Marriage customs (B) CmTeTe@ AR TS [ife
(B) Customs related to newly born (C) *PT R [T

(C) Worshipping Gods of crops (D) TR G

(D) None of the above

120. SE7CE S foE S [ere 2

120. Tirthamukh in Amarpur is famous for

(A) Pous Sankranti Mela (&) T et G
(B) Garia Puja (B) e 7

(C) Mai-luma Worship (C) MR- T

(D) None of the above (D) T/ER (@02 T/
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121.

122,

123.

124.

125.

R1.19/ APR=IT/A

“In the Varna model, there is no doubt
whatever as to place occupied by each
caste category.” Who said this?

(A) Ram Ahuja
(B) M. N. Srinivas
(C) R. H. Hilton

(D) None of them

Who wrote the Dbook,
System?

Indian Social

(A) Ramesh Thapar
(B) Ram Ahuja
(C) N. K. Basu

(D) None of them

The term ‘Justice’ is derived from a
(A) Latin word

(B) Greek word

(C) German word

(D) None of the above

“To my mind, a secular State is neither a
Godless State, nor a irreligious State, nor
an antireligious State.” Who said this?

(A) M. N. Srinivas
(B) Giddings
(C) H. V. Kamath

(D) None of them

The head of the State under
Parliamentary system of Government
enjoys

(A) absolute power
(B) real power
(C) nominal power

(D) None of the above

40

121.

122.

123.

124.

125.

“eofarE Afelt wifes srEm @ @Me +¢
ms R, 9 W"’W ACVCRI CRICT] <P
G317 G (& ICECEA 2

(A) N e

(B) @¥. @, Hfe—my
(C) W4. «@2b. f2sioa
(D) YT (T3 T

Indian Social System 336 (& feTCUCR ?
(A) TGP Ao

(B) T el

(C) @9, . ]

(D) €T (T2 o

‘Justice’ *1fba Tesife zcace @
(A) D *=F (ACH

(B) T * (AT

(C) &N * (AT

(D) Tofcs (@b T

CHNIR AR, ([T g IS (ROIRl
8, Wi qg, O «{RE® a8 @R
177 @A (AR ?

(A) @¥. @, |
(B) faife

(C) @3p. fS. FmY
(D) QU (T2 T

AR *PRTSIEP AIER GG (S5 B
(A) pUB el

(B) =g el

(C) *TAIE =l

(D) ToicRd (AR T



126. Which century is regarded as the century | 126. (I *oMi(F WAFRIKHCE *To@ 2 990

of Human Rights? Q1 2[?

(A) 19th century (A) Tafee *reE

(B) 20th century (B) fax *rora!

(C) 21st century (C) G WO
(D) None of the above (D) Toicd (e

127. Article 1 of the Indian Constitution
describes India as a

127. SFeR WRAEE 1 99 49 ©ed 396

FCACE GFO
(A) Confederation (A) [EPIE BN
(B) Federation (B) W eS|

(C) Union of States

(C) ErICera 2Tfere f&a
(D) None of the above
(D) T*Ea (@Fe T

128. As a member of the Lok Sabha, the
minimum age required to become the | 128. CTFTOR 3N A SIHCS LG 26T

Prime Minister of India is PO P =91

(A) 25 years (A) 25 =g

(B) 30 years (B) 30 =7

(C) 35 years (C) 35 =A

(D) None of the above (D) TE (@R

129. Which Part of the Indian Constitution 129. SRS y{t{ﬁw Cag‘l;[ WQXT ;ﬂ':;ﬁw ﬁz{]

deals with citizenship? TS ¢ 2
() Part I (A) 22 iz
B) P II
(B) Part (B) @R =
(C) Part III

(C) Tom W%
(D) None of the above (D) Toiad (@2 T

130. Which one of the following Articles deals
with the appointment of the Governor of

130. 6 TS (PR 4R SRS SHACEIE

a State in India? AreeCe fercast e e Tva e 2
(A) Article 125 (A) 125 <159 4«1

(B) Article 135 (B) 135 75 4R

(C) Article 155 (C) 155 75 4R

(D) None of the above (D) /ER (@02 W
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131.

132.

133.

134.

135.

The Indian Constitution borrowed the
idea of Directive Principles of State Policy
from the Constitution of

(A) Ireland
(B) Switzerland
(C) Canada

(D) None of the above

Which Part of the Constitution of India
deals with the Election and Election
Commission?

(A) Part V
(B) Part X
(C) Part XV

(D) None of the above

In Greek language, the word ‘Demos’
means

(A) people
(B) mob
(C) elite

(D) None of the above

When was ‘The Tripura Municipal Act’
enacted?

(A) In 1989
(B) In 1992
(C) In 1994

(D) None of the above

How many members can be nominated
by the Governor of the State in TTAADC?

(A) Two
(B) Three
(C) Four

(D) None of the above
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131.

132.

133.

134.

135.

ORCes MR @ e RREE (S TG
SRR O Thoq q=ell 22 FAR o
2]

(A) SRS

(B) 2&eeie

(C) Tl

(D) Tocs (@b T

£, o 7/

TRCSA TRRAGTR (@ S* o @3 =15
FE IR S 6 2

(A) “%es =2

(B) e =M
(C) I =R
(D) T°aa @Fie

T SRR ‘Demos’ *I(q <1 23
(A) Tl

(B) T wel

(C) «ferp

(D) ToiEa (e T

‘The Tripura Municipal Act’ (3 #I¥ 27 ?
(A) 1989

(B) 1992 M3l

(C) 1994 >IcsT

(D) T*iEa @Abe T

TTAADC (9 FICES qreyele] 1l FO& AT

TS 20T AAICET 2

(A) e
(B) Torem



136. Who is considered as the Father of Social 136. JIF AWfes M 29 9= 27 7?

Constructivism?
(A) oD%
(A) Vygotsky o
B) T°R”ICS
(B) Piaget (B)
(C) Bruner (C) g
(D) None of them (D) 9C7& (Fe2 o

137. The most appropriate purpose of learning | 137. PG o Tome 2
is
(A) ANEF ooTorR KM

(A) development of social awareness

(B) e FHEECe TA@AN FCA Ol
(B) preparing oneself for employment

(C) SRR IS e
(D) Tofcaa (@b T

(C) modification of behaviour

(D) None of the above

138. Taxonomy of educational objectives is 138. el Sovrcee SOt 2 Tere 20
developed by (A) 3. @@ 2ofTizE
(A) E. L. Thorndike (B) SIiESM “ewe
(C) =3, . (ufen

(D) G0 (&3

(B) Ivan Pavlov
(C) L. K. Devies

(D) None of them
139. Maxim of teaching is/are 139. M e 2=

(A) particular to geneal (A) TR CC M

(B) direct to indirect (B) A5 (AP ACETH
(C) Both (A) and (B) (C) (A) «R (B) Tew2
(D) None of the above (D) ToEd (@3 T

140. Which of the following subjects come
under Social Studies?

140. fcod (@ [REaasfel sMERecs wye {39 2

(A) History, Geography (A) 2fezrt, geore

(B) Civics, Economics (B) C*TRfeEn, Sefdife
(C) Both (A) and (B) (C) (A) @ (B) Texz
(D) None of the above (D) T R
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141.

142.

143.

144.

145.

R1.19/ APR=IT/A

Which of the following statements is not
correct?

(A) Lecture method is one-way process.

(B) Lecture method can

reasoning.

develop

(C) In Lecture method,
passive.

students are

(D) None of the above

An effective teacher is one who can
(A) give more information in less time
(B) motivate students to learn

(C) control the class

(D) None of the above

Which one of the following is most

effective element for making class

teaching interesting?
(A) Teaching method
(B) Lesson plan

(C) Textbook

(D) None of the above

The reliable and valid examination is the
(A) objective-type examination

(B) essay-type examination

(C) oral examination

(D) None of the above

Highly subjective examination is the
(A) essay-type examination

(B) oral examination

(C) objective-type examination

(D) None of the above

a4

141.

142,

143.

144.

145.

oa @I e AR W2

(A) TgO “afe G G elfe
(B) IF9l “afe Jfefew [ wor|
(C) Tg9l “Mafere Frrdl FfE e |
(D) o (P2 T

fefez cen Prss R
(A) STF N TS O 2 FACS AT

(B) PreIFid SCy (2@eN R FACS (I

(C) s fomg FACS A

(D) Tocs (@A T

o 1 e v o A 3 e e s S s s e ey
O SO [E @ 2

(A) Prsa omafs

(B) No-IfaFgen

(©) T

(D) Tocaa (@Mbe T

TR FeREen @ qe AR 2w
(A) CifEs <[

(B) TS #Rr

(C) G 1

(D) ToiEa (e T

Tw el ey [ 2w
(A) FOTES o[
(B) CNRT /7=
(C) CHifes »[rs
(D) ToicRa (e T



146.

147.

148.

149.

150.

R1.19/ APR=IT/A

In formative evaluation

(A) the examination is held after the end
of academic session

(B) the learners are evaluated through
external examination

(C) Both (A) and (B)

(D) None of the above

Formal operational stage of cognitive

development in Piaget’s view will

correspond to which stage of education in
India?

(A) Pre-primary education
(B) Secondary education
(C) Higher education

(D) None of the above

Which of the following is not a basis of
curriculum construction?

(A) Educational basis
(B) Sociological basis
(C) Cultural basis

(D) None of the above

The
development’ is given by

concept of ‘“zone of proximal

(A) Piaget
(B) Woodworth
(C) Bruner

(D) None of them

Kohlberg’s theory is based on
(A) physical development

(B) cognitive development

(C) social development

(D) None of the above
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146.

147.

148.

149.

150.

SIS ERCT (L

(A) FreRce SfeN <R <[ 229 9 =T
(B) Af2eoArFl =l PREFRE JeRm =

(C) (A) @3 (B) T=w2

(D) Toia (AR

TS 7

(A) A-2fE Frw
(B) Wpfa< el

(C) Tw o

(D) Tocaa (FMbe T

~

fio @M “noraw qvae fefe w2
(A) PrEErs fefe

(B) I fefe

(C) Ne~gphes fefe

(D) ToicEa (e T

‘I by T qr=ent e
A) Frics

(B) Tuewme

(C) FT=

(D) YT (T3 T

(FIC2EANHA TG 28

(A) fes M Hrs
(B) ®IeTe oM RIS
(C) NI R B
(D) Tofcaa (@b T
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR
Answer Sheet. The answer once marked is not
liable to be changed.

The candidates should ensure that the OMR
Answer Sheet is not folded. Do not make any stray
marks on the OMR Answer Sheet. Do not write
your Roll No. anywhere else except at the specified
space on the OMR Answer Sheet.

. Handle the Question Booklet and OMR Answer

Sheet with utmost care, as under no
circumstances (except technical defect), another
set of Question Booklet and OMR Answer Sheet
will be provided.

The candidates will write the correct Question
Booklet Number and OMR Answer Sheet Number
in the Attendance Sheet.

The candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic devices or any other
material except the Admit Card and Photo Identity
Card inside the Examination Hall/Room.

Each candidate must show on demand his/her
Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

No candidate, without special permission of the

Centre Superintendent or Invigilator, should
change his/her seat in the Examination
Hall/Room.

. The candidates will have to sign twice in the

Attendance Sheet presented by the Invigilator on
duty; first after taking their seats in the
Examination Hall/Room and second at the time of
handing over their OMR Answer Sheet to the
Invigilator.

The candidates should not leave the Examination
Hall/Room without handing over their OMR
Answer Sheet to the Invigilator on duty and
without signing the Attendance Sheet twice. Cases
where a candidate has not signed the Attendance
Sheet a second time will be deemed not to have
handed over the OMR Answer Sheet and dealt with
as an unfair means case.

. Use of any type of calculating device is strictly

prohibited.

. The candidates are governed by all the rules and

regulations of the Board with regard to their
conduct in the Examination Hall/Room. All cases
of unfair means will be dealt with as per rules and
regulations of the Board.

. No part of the Question Booklet and OMR Answer

Sheet shall be detached under any circumstances.

. On completion of the test, the candidate must

hand over the OMR Answer Sheet to the Invigilator
in the Hall/Room. The candidates are allowed to
take away the Question Booklet with them.

1.

10.
11.

12.

13.

FITefRI® fcraeit o1eetl #ed 2Ig -

2fSfb 2ica Tex 207 @ vl [Revm (el e ©f (A
WG wF TeAba (AfMFCS OMR TeRtitd (redl Jeib
FICE TEI2CID o @I ST7[fhee] Slcetl T fzrs wee
7 | G Ted Hize 41 2 (I O SR 7IRass
1 A 1 |

AT (FICATSICE2. OMR TEI2[@fs SI% F¢ =71 |
OMR TEICq (RIS ol 101 A1 B4 (@741 A =7 |
AP S (1o 799 OMR T@g#(¢q W8 TRel el
I CPICA SRR TG =10 |

OMR TG @R 20 I ARHF ToFS ST
FICS 7@ | @I SRwCe (@l T ¢ mmfeere Ffh
2[%l) OMR TER7[q € 2@ #f{%e 41 A 11 |

AT SCHCEH Ab-9 S OMR TEICIS 59 R
POCEd T FTgeTeICa foTeee 2 |

AIFINCE SUCHB FIE G FCH! SABCTADBH FE Fo! =)
CRRICAT PTG AT o1 19T, 7157 € JUETSTS A1, (oI,
(RIZE I, ST (IR SCERGI (G033 FIC 2(F 1
20 /0T 2T FACO (TSN 2 1 |

SR 20eT TASEToa 6 551 R (Fewa foom
“ArFI-RMAE ST F9 MR 91 2@ Ao AR
SE SICRD FE € FCOl ARCTADBH FIE @S A0
A |

TR FAIRACHICTS Tl TS5 - 97 RT S =rel
AIFA AT 2CE/FOF ORF PN T RS FAC
AR |

RS TACGCBERT (TS ST Mb-9 T2
HEF FACO 2(4, AR A 20 /FCF O AP
B0 217 G TGO TfefeeneEd fiFh OMR Ted7q
TN (TSI T |

SHCHCEH  Mio-9 GRAN FEHT P 4R PGS
Sfefe09-99 @190 OMR Teqolg &l (7Sl qrore
T 2RI 2[FFF 281/ of19] FICO A[CE N1 | AW
CICT! A1 S Ab-« 72R FI 1l el
o O OMR TE7q T FCEC ACH 9T 2F GR O
webe SR f2TCa 491 2 |

- (T GHCTH FISTPCAB = 17jefaneel i |
I Z6/FCR N AT AR @CET R e
el SRRl BifeTe 263 | 9 e Sfoe R (@R
o s Tl s i =eq |

(I SREICD2. 247 €32 OMR TSIYCAT (FIC SRH
(R A1 W F1 A |

I 2STF 27 AR SHE O OMR TeI79
AIF /IO W FEIIS SASGCEBEE FICZ. &l
C | 2RI 2eraft Srewd e I @S #I1eE |

R1.19/ APR=IT/A

48

20KT—O00



	Front.pdf
	1-CDP-A.pdf
	2-Eng-A.pdf
	3-Bengali-A.pdf
	4-Kokborok-A.pdf
	5-Math-Sc-A.pdf
	6-Social Studies#A.pdf
	Back.pdf



